9

HI- ol

1 2024.11.28.

=0 =
g T Adsns?

54950 HFA] itx AE2L40(MLTF)

7 WFH 253-6617 © A

¢ 249-3872

GEI)5}? Au)2)5}]
53&2)5¢

ECPESEL TS
AHIXOI| RE

TTo X

o7t 8120t 712t

=) O = ~
AU)IITES AHE 51 £2 A
o
gEaTy| o 2A
77180| X|5tCh= O/ 2 H2{7H
AlE0| ZAL}E7| IfF0|X|2.
ea ZT AN
SASAE|7] X2 oj 4/ dot= 0] Atet
EtA7F £0{50{ EtASEIO| AMER

(‘(‘(\
/~J‘
AH|7[St0] X|5tTHE A
T EVLY

‘2, 52

Exl= 748 S(%),
0l XI(£)2 '.’_*II'E
0|50{x{ 74=0]| 0|2
AlZ12t= 2ioi7t °'*|-IEP

GIZ5E Z
47| 5 5

HiQ| 7}&F U3 L

Lt
0|7| = O} X|2. /\(

I|_O
=2
I-EI-
BH . =2

01ur:
I:H (=Ne) E}k‘

= 20| 7tx]2 Ql0i2.
""“ 250] So7t=
AH2 A2 LEO] RXICHZ

'20{ H=HLICL.

SHE0| F=loF SHo| ECtet=
£E0| ASLICE.

0] FLI0F S} W7t HoiF7|
EH'-'_'OH Exll.l-0| *cu:| &:*}7'- P §

o A=

E|9iCt3 ot

23 djojex]| 2t 02| HH A




=1 C
12-18 ATh QLY
Mon Tue Wed Thu Fri
12/2 12/ 12/4FHdgl = 12/5 12/6
dEsEily dedxrry Bl e gt WEPEBEATY(5)  |HELEIS
SN0 =SMIH(5.6.10) [ CHRI N (5.6.13.15. 18) AlehD| =l &=(5.6.13)  |(5.6.13.15.16.18)
mZe3tEH Qe (1.2.5.6.9.10.13.) S0 ol 91 T O o
AEC 21 A A M H=2=2(1.5.6) W™ 0](5.6.10.13) THOHI} @ S M
ROIAEE=(1.5.6.13) A AAEF0| - ==l Ee H D x| DA OU
N O A e 2510 13) ES- U] =00t 2 & (5.6.13) |(EH=A==8)(0IU)
(56.13.17) IR0 Aler A (5.6. 12, 13) (1 -2.5.6.10.12.16) =2 M2 XI(9) (5.6.10.13.18)
1222 (9.13) oMMz [HEBI) cHeNEdN=t  |Ed/Felan
AR ool S2ATAAMBEA(13)  |(2.5.6.13) (1.5.6.10.12.13)
PEOH(NE)(13)  |[PUXE(XE)(5.6,19) [FONTENENE)  mxes(Xe)(18) =IO
B69.1/34.4/164.1/3.0 1B48.5/31.9/202.6/2.3  1812.4/41.7/246.3/2.9 077.2/42 . 4/264.7/3.7 " 1843.0/31.2/113.9/3.7
12/9 12/10 12/11(%HEIgl =) 12/12 12/13
SN I A J13kel 2ol & 2 e 0| &g = DIIHIZEH(2.10.
caasls TSASHTIY(5)  |(2.5.6.12.13.16.18) Siep 20 (2.10.)8
SeSE(5.6.13.15) [lootaao0 0 FREd=(.6) S RE2(1.5.6.13.18)|(5.6.13)
AEIO|DAADESR A IS St & argl el 0] OlLI& X 22(5.6)
(5.6.10.13.18) (2.5.6.12.13.15.16.18) Ol /15l o
(1.2.5.6.10.12.13.16) |Sxpjmamo|zs) K219 (13) (2.5.6.12.13.16.18)  |DJIQtS/ARIQS
HH =21 X1 (9) Ge B =21 31 (9) 2<I|(9) (1.5.6.)
(@%ggua)}() =16 ALOI O A 38 2= A (13) HIE}(EL"%E)I HH =21 & 01(9.13)
NESEENG i . e AT (TS AFDH(KHE ==l
T (X1 B) (5.6.13) (271 2HETON(1.2.5.6) SIEITAMTE) - LopiGlog e [Aso(us)(©
1,141.4/421/156.7/4.6_165.4/46.4/104.1/2.9 [771.9/36.5/193.2/3.4 615.9/37.9/168.6/6.7 _ [705.2/29.7/251.1/6.2
12/16(34] HEe o) 12/17 12/18(THetgi = 12/19(new A|Z2| ) 12/20(Z %)
e ot =t X e (A2 Ee) [EE2IXsa
DILIXI S of 2 52 aessaa=e(s) o115 1518 X AW IN(5.9.16.18) |z 2/ v = (5.6.13)
(5.6.9.10.13.16.17.18) [12aU=(1.5.6.18) ly=ax2(56) P DL E=10120|(5.13)
e (sRAssz)  [IEHNZ8IE EEEEEyN= (5.6.13.18) DEFAAATO
(1.5.6.15.18) STCTPR LS (b T ENTT=E T DN & P i (5.6.10.13)
HEEE01(1.5.6.13.16) [ 2t oy 0 < (1.2.5.6.10.12.13.)  |Xmio5e o IHH 2 & (13)
ol (e NERSEE 5 S HIRHE-A 2L A
=2 X (XHE)(9) = 2EI|(9) (2'5.6.13) 2= J|(9)
SR VA SR o=/ (xtg) [
MU ST==TES SheusRs(8) |Ge13) |
B34.9/37.9/245.2/5.1  [883.6/45.2/169.3/3.5  |1,138.9/44.4/156.4/3.7 [164.9/29.2/224.3/3.7 |792.2/39.6/81.1/3.1
12/23(0|2] A2|ADA) 12/24 12/25(°’3 EHE) 12/26(AH =14 =9H) 12/27(x 170
e
HE =SS K 22X RSEH(5.6.9.13.18) %1 8129 7| B ot ZstAES0IE
(1.5.6.9.13.18) UL QYATZIRE <2 S HO| = ZMON(5.6)
=S EAH O3 (2.5.6.10.13.16) . o ¥ Fﬂ%ﬁﬁ?ﬁ?éﬁiggm shet s 4 (5.6.10)
(2.5.6.10.12.13.18)  [=HIXI2IHSAZAA Merry 57 AN=S 0 6. 10 12) M S8 E(5.6.13)
2 XS 28 E (5.6.12)  |(1.2.5.6.13.15) ot HxeDEOl(1 o 12) | [HZ2H=4(3.5.6.13)
OFANZE M| C (22 S Al 20/ T2 (13) Christmas. Solumsum(o5e) PIESTA ZDT0
(1.5.13) XH26{LIF=A(13) 4 2 meoie) o [REER()
SeIX0IAA0(1.2.5.6)8 52 801 (Xi)(13) k= B o 4%/201/20/ D% (XE)
“ T =
1.013.3/46.3/159.8/4.2"|1.011.5/39.2/150.7/2.2" 058.4/37.3/237.4/5.0  |883.7/46.2/203.0/5.1
12/30 12/31 1/1(2E)FEY 2] 8l 1/2 1/3(1.28Hd =)
e PN S Eat 5 16) ABABETRY(5)  ([AHAEH ]
LU EY2(5.6.18) [{S=s (2 2'16 73) XSRS (1.5.6.9) [HXIZ2XILHH
R ENYEN 22m(1.9) R REPAJAA (1.2.5.6.9.10.13.)
(5.6.13.15.18) =2 7119) (1.2.5.6.10.12.13) ©=0|(1.5.6.13)
2% & (5.6.9.13) R Py SH AR S (RIS AR S THel - 20] (15)
otEF2I 2 X (9) 1256 (1.5.6.13) SE=0N
= Do D (XS) 2<J((9) HIZNON(KE)(5.9)
AFDHXE ) (56 13) = I} 01 OH = AR (XHE)(9)
916.5/42.5/170.3/4.6  [787.1/39.7/122.6/3.8 811.8/26.4/212.1/2.4  |967.5/41.5/234.2/2.9
1/6 1/7 1/8EYA/SYUA) | A= gyz7] 5A) | Era4 244X et
faoia #/ ax | &
1&t24 S =13 _ Py 28 |20 22|/
OS2k 610 [EHTAE MR, H02) - 2 gy
201 (5.6. 13, 15) (1.2.5.6.9.10.12.13. 16) e s mer |20E| 25 | 2| 2w | W
= Jartw 0| () Hil 0124 XI 2 10| Xt st Jreg mmrash @i TS Gy | Ty | Ty | 2
R = (1.2.5.6.10.12.13.) - ol N o | 5252 1S3 A
(1.2.5.6.10.) olLTer .JL"’ A ’ : DS NPT Y 11280t ) T3y | o | o |iEs
H —:—vc—jcxl X o':, = - T 3& " - =
gﬂg(glz(l%JrMﬂg) %n%‘lll_lliill(5.6.9.10) Ve I-;P'H 4 $uoe @noees Quss o gl as Py
(1.2.5.6.13) ;gﬁo'“'am’) " 155w @eaml Fr.on i CHAIOH, & X
=M (K1) (1.5.13) [T : (s, | Buer | Ol NS
Quemisz i gy 108 1%}' T8 | o INE,
--------------------------------------- pEs — 7 OALQ':E’\_T/\L
024.2/40.5/142.9/3.7  895.8/31.4/226.9/2.9 haccp | 2P | MTHHIZE
OlIIXISX: DA B NSRS




